@ @ @ (SQ g Multiply decimals by powers of ten

Name: Date: Score:
9.791 x 100 = 7.97 x 100000 =
4.69 x 1000 = 4.968 % 10000 =
4.697 x 1000000 = 1.486 x 10000 =
5.484 x 1000 = 7.74 x 10000 =
8.318 x 10000 = 3.193 x 1000000 =
8.782 x 100 = 4.713 x 1000 =
2.925 %100 = 4.896 x 100000 =
2.429 x 10000 = 9.462 x 10 =
5.406 x 100 = 6.335 x 100 =
8.023 x 1000000 = 1.063 x 100000 =
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ﬂ @ (SQ % Multiply decimals by powers of ten

Name: Date: Score:
9.791 x 100 = 979.1 7.97 x 100000 = 797000
4.69 x 1000 = 4690 4.968 x 10000 = 49680
4.697 x 1000000 = 4697000 1.486 x 10000 = 14860
5.484 x 1000 = 5484 7.74 x 10000 = 77400
8.318 x 10000 = 83180 3.193 x 1000000 = 3193000
8.782 x 100 = 878.2 4.713 x 1000 = 4713
2.925 x 100 = 292.5 4.896 < 100000 = 489600
2.429 x 10000 = 24290 9.462 x 10 = 94.62
5.406 x 100 = 540.6 6.335 x 100 = 633.5
8.023 x 1000000 = 8023000 1.063 x 100000 = 106300
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